■ Major Employers





Major Employers by County

Buncombe County

Rank	Year	Quarter	Company Name	Industry	Employment Range
1	2020	02	Mission Health Hospital	Health Care & Social Assistance	1000+
2	2020	02	Ingles Markets, Inc	Retail Trade	1000+
3	2020	02	Veterans Administration VA	Health Care & Social Assistance	1000+
4	2020	02	Buncombe County Board Of Education	Educational Services	1000+
5	2020	02	County Of Buncombe	Public Administration	1000+
6	2020	02	City Of Asheville	Public Administration	1000+
7	2020	02	Wal-Mart Associates Inc.	Retail Trade	1000+
8	2020	02	Mission Community Anesthesiology	Health Care & Social Assistance	1000+
9	2020	02	Eaton Corporation	Manufacturing	500-999
10	2020	02	Kendro Laboratory Products Lp	Manufacturing	500-999
11	2020	02	A-B Tech	Educational Services	500-999
12	2020	02	Unison Engine Components	Manufacturing	500-999
13	2020	02	State Of NC Dept Of Health & Human	Public Administration	500-999
14	2020	02	UNC Asheville	Education Services	500-999
15	2020	02	Lowes Home Centers Inc	Retail Trade	500-999
16	2020	02	Biltmore Workforce Management Inc	Arts, Entertainment, & Recreation	500-999
17	2020	02	Mountain Area Health Education Ctr	Health Care & Social Assistance	500-999
18	2020	02	Fastmed Urgent Care Pc	Health Care & Social Assistance	500-999
19	2020	02	Wilsonart Llc	Manufacturing	500-999
20	2020	02	M B Haynes Corp	Construction	500-999
21	2020	02	Dept of Public Safety	Public Administration	500-999
22	2020	02	Borgwarner Turbo Systems Inc	Manufacturing	500-999
23	2020	02	U.S Postal Service	Transportation & Warehousing	250-499
24	2020	02	Teletech Services Corporation	Other Services	250-499
25	2020	02	Linamar North Carolina Inc	Manufacturing	250-499

Source: North Carolina Department of Commerce (2020)

Updated: January 2021







Major Employers





Major Employers by County

Haywood County

Rank	Year	Quarter	Company Name	Industry	Employment Range
1	2020	02	Blue Ridge Paper Products Inc	Manufacturing	1000+
2	2020	02	Haywood County Consolidated Schools	Educational Services	1000+
3	2020	02	Dlp Partner Medwest Llc	Health Care and Social Assistance	500-999
4	2020	02	County Of Haywood	Public Administration	500-999
5	2020	02	Ingles Markets, Inc	Retail Trade	500-999
6	2020	02	Haywood Vocation Opportunities Inc	Manufacturing	250-499
7	2020	02	Wal-Mart Associates Inc.	Retail Trade	250-499
8	2020	02	Consolidated Metco Inc	Manufacturing	250-499
9	2020	02	Giles Chemical Division	Manufacturing	100-249
10	2020	02	Town Of Waynesville	Public Administration	100-249
11	2020	02	Haywood Community College	Educational Services	100-249
12	2020	02	Lowes Home Centers Inc	Retail Trade	100-249
13	2020	02	Silver Bluff Nursing Home	Health Care and Social Assistance	100-249
14	2020	02	Publix North Carolina Employee Serv	Retail Trade	100-249
15	2020	02	Maggie Valley Nursing And Rehab	Health Care and Social Assistance	100-249
16	2020	02	Autumn Corporation	Health Care and Social Assistance	100-249
17	2020	02	Food Lion	Retail Trade	100-249
18	2020	02	Ken Wilson Ford	Retail Trade	100-249
19	2020	02	U S Postal Service	Transportation and Warehousing	100-249
21	2020	02	Meridian Behavioral Helath Services	Health Care and Social Assistance	100-249
21	2020	02	Town Of Canton	Public Administration	50-99
22	2020	02	Mcdonalds Restaurants	Accommodation	50-99
23	2020	02	Mountain Projects Inc	Health Care and Social Assistance	50-99
24	2020	02	Conitex-Sonoco U.S.A. Inc	Manufacturing	50-99
25	2020	02	Plus Linen & Uniform Service	Other Services	50-99

Source: North Carolina Department of Commerce (2020)

Updated: January 2021







Major Employers





Major Employers by County

Henderson County

Rank	Year	Quarter	Company Name	Industry	Employment Range
1	2020	02	Henderson Co Bd Of Public Education	Educational Services	1000+
2	2020	02	Margaret R Pardee Memorial Hosp	Health Care and Social Assistance	1000+
3	2020	02	Ingles Markets, Inc	Retail Trade	1000+
4	2020	02	Park Ridge Health	Health Care and Social Assistance	1000+
5	2020	02	County Of Henderson	Public Administration	500-999
6	2020	02	NInc Hospitality Llc	Other Services (except	500-999
7	2020	02	Wal-Mart Associates Inc.	Retail Trade	500-999
8	2020	02	Continental Automotive Systems Inc	Manufacturing	500-999
9	2020	02	Compassionate Home Care/ Four Seaso	Health Care and Social Assistance	250-499
10	2020	02	Meritor Heavy Vehicle Systems Llc	Manufacturing	250-499
11	2020	02	Human Technologies	Administrative and Support	250-499
12	2020	02	U P M-Raflatac Inc	Manufacturing	250-499
13	2020	02	Sierra Nevada Brewing Co	Manufacturing	250-499
14	2020	02	Current Lighting Employee Co Llc	Wholesale Trade	250-499
15	2020	02	Carolina Village Inc	Health Care and Social Assistance	250-499
16	2020	02	City Of Hendersonville	Public Administration	250-499
17	2020	02	Blue Ridge Community College	Educational Services	250-499
18	2020	02	Lionbridge Global Solutions Inc	Professional, Scientific,	250-499
19	2020	02	Flavor 1st Growers & Packers Llc	Agriculture, Forestry,	250-499
20	2020	02	Lfc Agricultural Services Inc	Agriculture, Forestry,	100-249
21	2020	02	Blue Ridge Community Health Service	Health Care and Social Assistance	100-249
22	2020	02	Kimberly Clark Corp	Manufacturing	100-249
23	2020	02	Hunter Corporation	Retail Trade	100-249
24	2020	02	Lowes Home Centers Inc	Retail Trade	100-249
25	2020	02	Westrock Services Llc	Manufacturing	100-249

Source: North Carolina Department of Commerce (2020)

Updated: January 2021







Major Employers





Major Employers by County

Madison County

Rank	Year	Quarter	Company Name	Industry	Employment Range
1	2020	02	Madison County Schools	Educational Services	250-499
2	2020	02	Mars Hill University Inc	Educational Services	250-499
3	2020	02	Madison County	Public Administration	250-499
4	2020	02	Ingles Markets, Inc	Retail Trade	100-249
5	2020	02	Printpack Medical	Manufacturing	100-249
6	2020	02	Hot Springs Health Program, Inc	Health Care and Social Assistance	100-249
7	2020	02	Nursing Home	Health Care and Social Assistance	50-99
8	2020	02	Buchi Kombucha	Manufacturing	50-99
9	2020	02	Elderberry Health Care	Health Care and Social Assistance	50-99
10	2020	02	Bluewest Opportunities Inc	Health Care and Social Assistance	50-99
11	2020	02	French Broad Electric Membership Co	Utilities	50-99
12	2020	02	Deringer-Ney Inc	Manufacturing	50-99
13	2020	02	Peerless Blowers	Manufacturing	Below 50
14	2020	02	French Broad Adventures	Arts, Entertainment,	Below 50
15	2020	02	Mars Hill Retirement Living Inc	Health Care and Social Assistance	Below 50
16	2020	02	Nc Department Of Transportation	Public Administration	Below 50
17	2020	02	Wolf Laurel Country Club Inc	Arts, Entertainment,	Below 50
18	2020	02	U S Postal Service	Transportation and Warehousing	Below 50
19	2020	02	Town Of Mars Hill	Public Administration	Below 50
20	2020	02	Advanced Tool Inc	Manufacturing	Below 50
21	2020	02	Bojangles Chicken And Biscuits	Accommodation	Below 50
22	2020	02	Jas Of Weaverville Llc	Construction	Below 50
23	2020	02	U S Department Of Agriculture (Nfc)	Public Administration	Below 50
24	2020	02	Nantahala Outdoor Center Llc	Arts, Entertainment,	Below 50
25	2020	02	Hot Springs Resort & Spa Inc	Accommodation	Below 50

Source: North Carolina Department of Commerce (2020)

Updated: January 2021





